Orthodox School
Shmaisani

The National Orthodox School / Shmaisani

ood chains
Subject: Biology Worksheet : Food webs and F

Name:

P\n&d&r\<gj :

Date: Grade 9 1B

Question one :

a. Use the food web below to answer the following questions .
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e Complete the food chain below from this food web -
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* What do the arrows in a food chain represent?

b. The diagram shows some feeding relationships in a woodland area.

Which of the labelled animals are C birds of prey
in competition with seed-eating T \
insects for their food? B swifts D finches
A insects insects
T \
flowers (nectar) seeds

P

woodland plants

c. The diagram shows a food web including a producer, consumers and a

decomposer.
% : organism
Which organism is the A
decomposer?
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d. The diagram shows a food chain.

lettuce |—=

other organisms in this chain?
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Choose the correct row from AB candD:
/ insect.eating pirds
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increasé

increaseé

A
B
c

decreasé

1 shows a food chain.

|Fig- 6-

Fig. 6.1

n Fig. 6.1

food chain shown i

ig. 6.1 starts with an oak tree.

d of nutrition of the oak tree.
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i aves, the Ia" to the gIOUI |d ar ld iOI
plOV des '()()(’ IOI Illany animals. Ihe diagla how:
m shows a

m leaf litter. The i
% leaf litter
food web that includes leaf litter.

tertiary
consumers

wolf spider

secondary . b
S FE

consumers
ground beetle

peetle larva

primary
consumers

P roducers
leaf litter

) Use information in the food web t© complete the table.
ne for you-
(a)

(2
e has peen do

ertiary consumers

the number of different t/
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Question 4 :

A food chain is shown below.

tree = small insects = small birds = birds of prey

One of the pyramids of number below represents this food chain.

birds of prey r_’j H

small birds

small insecls

tree r J ﬁ J U

Which oné would be correct?

..Pﬂ.(am.i..a....%?@...mumbzf —.Shows. thae........

Explain your answer ..
numbec of oFanims

which of thé following diagrams show 2 pyramid of biomass for a forest?
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Question 6 :

The image shows a food web.

Wthh organism’

A. whelks

C. Limpets ///,/

D. MU&eIS///
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